Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.3.dwg

STEVES

STEVES AND SONS

203 Humble Ave.
San Antonio, TX 78225

2 PANEL

OPAQUE FIBERGLASS DOOR

SINGLE
w/ or w/out SIDELITE(S)

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be protected
with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x
buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering analysis by
a licensed engineer or registered architect.

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 8 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 9 Horizontal & Vertical Cross Sections (Direct to Masonry)
3 Sidelite Panel Details 10 Vertical Cross Sections
4 Door Panel Options 11 Buck Anchoring
5 Elevations 12 Frame Anchoring & Hardware Details
6 Horizontal Cross Sections 13 Bill of Materials & Components
7

Horizontal & Vertical Cross Sections (2X Buck)

— o
]
X
[ ] ® [ X [ ]
[ ] X [ ] X [ ) )
2 PANEL OXFORD 2 PANEL ARCH TOP 6 PANEL 8 PANEL
w/ SPEAKEASY PLANK CAVALIER
w/ SPEAKEASY
68.5" MAX.
OVERALL FRAME
WIDTH
TRRE .
o 2
<z < 5
oZ O> X
i Z = o o)
= [}
=2 25 °
nT Lo
x%Y S
é =
[T § X
N | |
1] )
CONTINUOUS HEAD & SILL
"DESIGN PRESSURE (PSF) | D.

37.5" x 81.5"

X0, OX, OXO

68.5" x 81.5"

June 7, 2022

P.0. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE Registry No. 9813

w

Lyndon F. Schmidt
P.E. No. 43409

R

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 3/10/22

SCALE:  N.T.S.

DWG. B:  RW

CHK. BY: LFS

DRAWING NO.:
FL—41467.3

SHEET _1 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.3.dwg

24"
0.5" —= - EXTERIOR
‘¢ .:‘ ¥ -
~ -.“xh.': .‘-: ‘tt'
- | L
aalL T
\ INTERIOR
COMPOSITE HINGE STILE
CAP {LVL)

35.75" MAX. DOOR

WIDTH

&%

/"1 "\ HORIZONTAL CROSS SECTION

\2/

10" X 12"iRON
SPEAKEASY FRAME w/
5-3/16"X7-3/8'D.L.O.

P

FIBERGLASS SKIN: 0.08" MIN. THK.

FOAM CORE: POLYURETHANE - 1.9 PCF MIN.}

- / v
v I
7 d g
T
5 X 5
[s74
8 G _L__
. o
>
3 %
ft
SEE HARDWARE TABLE
(LATCH & DEADBOLT)
SEE HARDWARE TABLE
(MULTIPOINT LOCK)
@ FIBERGLASS DOOR PANEL

sl

[

IRON SPEAKEASY FRAME

29.125" —>‘

4.875"

|-'——— 17.875"

GLAZING DETAIL

Gl

- 1.2" 24"
— r—— 0.5"

B S

EIN B
COMPOSITE
LOCK BLOCK LATCH STILE CAP
19.5" LONG (Lvi)
(LVL)
1/4" SEX BOLT
(8 TOTAL)
NGP 25258
SELF ADHESIVE WEATHERSTRIP

GLAZING SILICONE

SPEAKEASY (OPTIONAL)

r—»——l.l"

-—1.75" —

—]

=h

0.77"

SASH HINGE

16 GA. IRON SPEAKEASY FRAME

e
L7

5/3/ 16" TEMPERED GLASS

COMPOSITE
CAP =
o
TOP RAL — | o
(LVL)
- P v’ ’ v
L AR
FIBERGLASS SKIN  |e - "%
.. .
4
g
[/4
INTERIOR EXTERIOR
Y74
/.
:"' s 7
FOAM CORE— [+ . "
V‘ - 'u
v, s';
BOTTOM RAIL N
REINFORCEMENT
(LvL) _
~
o
BOTTOM RAIL—]
[COMP)
/ 2"\ VERTICAL CROSS SECTION

\2/

LATCH: SIGNATURE SERIES
KWIKSET DEADBOLT:  SIGNATURE SERIES (980)

LATCH: F51
SCHLAGE DEADBOLY: BSON

LATCH: PREMIUM HANDLESET
ROCKWELL DEADBOLT:  PREMIUM DEADBOLT

PREMIUM MULTIPOINT HANDLESET
ROCKWELL w/ DEADLOCKING TONGUE
MULTIPOINT LOCK

SCH

W
€.

<

M,
R

[«

June 7, 2022
Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

P.O. Box 230, Vairico, FL 33595

BUILDING CONSULTANTS,
Phone No.:

813.659.9197

FBPE Registry No. 9813

PRODUCT:

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:

DOOR
PANEL DETAILS

BY

NO. DATE

REVISIONS

oatE: 3/10/22

SCALE:

N.T.S.

DWG. BY:

RW

CHK. BY:

LFS

DRAWING NO.:

FL—-41467.3

SHEET _2 oF 13

© 2022 R.W. BuitDING CONSULTANTS INC.




Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467 3.dwg

1.2"

G2)G3

i EXTERIOR
! INTERIOR
COMPOSITE STLE  STILE REINFORCEMENT
CAP ) (LVY)

/"1 HORIZONTAL CROSS SECTION

3/

13.875" PANEL
WIDTH

7'D.LO.
WIDTH

HEIGHT
D
]

79" PANEL HEIGHT
64.125"D.L.O.

4
7

&

@ FIBERGLASS SIDELITE PANEL

FIBERGLASS SKIN: 0.08" MIN. THK.
FOAM CORE: POLYURETHANE - 1.9 PCF MIN,)

]/ 1] ]
GLASS BITE
NTERIOR —1"O.A. THICK GLASS
1/8" TEMPERED GLASS OR
1 5/32" TEMPERED GLASS (FROSTED, RAIN, BROOK)
GLAZING — 2 %
comr:omu:< 1l N T AIRSPACE
1/8" TEMPERED GLASS OR
5/32" TEMPERED GLASS (FROSTED, RAIN, BROOK)
EXTERIOR
— ALUMINUM SPACER
@ GLAZING DETAIL
]/21:
GLASS BITE
INTERIOR 1" O.A. THICK GLASS
1/8" TEMPERED GLASS
118 DECORATIVE INSERT
GLAING < -
COMPQOUND I \—AlR SPACE
/8" TEMPERED GLASS

EXTERIOR
SWIGGLE SPACER

C) GLAZING DETAIL

COMPOSITE

TOP RAL—|E

{tv)

TOP RAIL
REINFORCEMENT
(LVL)

p

FIBERGLASS SKIN

EXTERIOR

G3)G2

FOAM CORE

BOTTOM RAIL
(VL) ]

COMPOSITE — .

CAP

CAP \

A\
A\

/i
7

INTERIOR

12" »j

0.75"

/ 2"\ VERTICAL CROSS SECTION

NED

June 7, 2022

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

SIDELITE
PANEL DETAILS

STEVES & SONS
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 3/10/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFs

DRAWING NO.:
FL-41467.3

SHEET _ 3 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



TON SINYLINSNGOD aNiging "My 22072 @

186 'ON Ansibey Idgd SNOISIAFA
LBL6'6S9°CL8 TON euoud A8 31va fON M {0
SBSEE 74 ‘O0MIDA ‘0£Z XOg ‘0'd \§ SNOILdO FINvd 4000 @ GIEIR| )
"ONI ‘SINVLINSNOO ONIGTNg @u "ATANISSY ¥0 LHvd o M T R

\and o ™

oN 3 ¥00a SSv19436l4 STl By |
pragae . Sopai SNOS % S3AILS @ w w w s
*s W2 :Ag_peundeig sjuewinoog :10na0¥d HEIHEE 5

=

7
o
J
FULL LITE

REGENCY SIDELITE

[ | OO

8 PANEL

[ 1 O

==
| e
R
Rzl

=
=l
=
=l
6 PANEL

[« W8
O &
w—t
T2
/ mmm
=] <fx Z
. o< O
\} X uj
Z <o —
<<
a. C
- TN ]
N L |
el
B
ok O
. T g ®)
/4 Q> w—r
e < L
< Q N
\ m X <
z
i o
o g -
~ @)
o <
3 (11
% )
X <« Ly
= oy o
N ﬂA
NE
<&
[
™

2 PANEL

BMpE 911 7-14\0202) 29¥Ly-1d\sBumel - DASINIS ADNIDIY L9vip-14\sjercsddy 1onpold epliold - Y\jusueulaq - sUos pue mm>mym/m«cmm_u/wN



TONE SANVYLINSNOY SNIQTHNg M'e 2202 @

€186 ON Ansibey 3dad SNOISIATY
L616°6G9°CLY ON suoyd A8 31V3 TON| oy MM
SBSEC T4 ‘OOUIDA ‘0SZ XOH "O'd \§ SNOLLYA 3 N e BN H_
"ONI ‘SINVLINSNOO ONIgTNg @W ATEN3SSY N0 1avd o M . <18
W ¥00d SSY1943gI > slele Y |
80vLy "ON ‘I'd . g
a“.mw\ et g SNOS % S3AILS i m AN
*e \\ . . = X m X
o VN 1A peipdeld sjuewinoog 1LONA0Yd 3 FRIERES %
.._ 7207 ‘L sung
17 \\)
H 0o~
S BRE e
>
5u A2 AW @ = o~
on®
| o b
-9 &
=0
<t| o Z
x =g
o - M
T~ 54 =0
P
= O .
w| o
| -2
b
~ pay
Pl TSI
Z
°l® | oI5
TI
<T| O~ AVA ~
“2) §8
L
|
| x a /]w
[=)
z| O
OQZ
SNY
loR=
i Lt
w N
5U 4 O g ZW
D
-~ (=l
JOVWI GFAOHAIW
z
O
T
<|><
>
o
[T}

BMP'E £9pLy-14\0202) L9YLp-TH\sBUMeIq - JASIIYIS ADNIDIY L9¥Ly-Td\s[eroiddy 10npoid BpUOJS - YAIUBUBULIB] - SUOS pue SBAIS\SIUANDNZ



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.3.dwg

NOTES:
1. Sidelite assembly screws located @ 3" & 19" from
each end of mullion {4 total}.
2. Moulding secured w/ 16 GA. X 1" brad
nails located 1" from ends & 6" 0.c. max.

SEENOTE 1

N

\\

@ 0 SEE( NO§E2 @
TYP. m
O

/"1 "\ HORIZONTAL CROSS SECTION
w Outswing shown {Inswing similar)

SEENOTE 1
INTERIOR
. 7
;x
EXTERIOR @ 34)12

/"2 HORIZONTAL CROSS SECTION
\é/ Outswing shown (Inswing similar)

\\ PrTYY FOR
P i
\\ ... ~' ,’ m
e e 2
~ .-. [«)] ". ':- N
=5id g ASETR
Qi ¢ XK §E§E“ N
-—m'. o » P oM
VN rd & 0= o=
- . .\Qf“ OOIK)
AP . ~ Z OO
,/ PN o Q\ < 'Cm
-~ ‘e o* g\\ ==,
” ., " o (N J 0Dwo
,/ " eesen-’ \\ o >N-Sz
’I, X D\\\ (71
(4 1 \ \\ % % o0
gy s oW B
o o o
- T ¢} gzd:v
2 Ea Z n ©
S co Q . cuw
® O« = 0 o0
Ny O D om
o < Mmook
31 & .
- 0
(* ~1g §2 §
i 0.
813 cu
=18 e
n (%]
20 =
Q0 o]
no ,SE
vy =
S0 |5 o
ng o N
83 |3l £y
Elx n T
[l VY I N7 ] &
., o < A
5 % |z
8 o
S E
& &
>—
m
[%2]
e
Q
N
il
(2
o
z
)
wl |8
=R E
(=] 3
0n
. z
(@] =]
> |o
o
oaE: 3/10/22 |z
0
scate: N.T.S. d
3
DWe. BY:  RW o
cHKk. B:  LFS 3
DRAWING NO.: g
FL—41467.3 g
N
O

UMM 7
\ f;
N X s,

SHEET 6 oF 13




1-1/4"MIN, 7
EMB. (TYP.) s,
SO
;-.%": 8
BiZZZ
H I N
0.15" C-SINK 03P 5%
(TYP) & 65 Z0g0
P 98 53585
. . N - : \\\ a > Mz
S s : oo 2
0 SPI ‘ INTERIOR 5 g9x28
4 . LAY HUERIMI = z 0 (14
S v Eo 500
i £0 o .cw
L ‘ @ o é’n‘f; 59 .g %
. : o~ <+ m oo b
RS i1 Qle v .
TR . 3 X §
s ' - ' Q T .
4 ‘ ALVUANRAANEAN RN : i RN é S‘ﬁ @
L B /\ 3
R a4 . ey AR -y —
{ <
< » 4 s :(jg
" ; Om
N I
. EXTERIOR sy |31 %2
1-1/4' MIN. S o2 |3 28
EMB. (TYP.) - @ — 43 |3 £
y E =t |u Nm
m HORIZONTAL CROSS SECTION m HORIZONTAL CROSS SECTION EXTERIOR INTERIOR o e OB : 4
7_JShownwi X Bucﬁ g simion 7_JShownwi X Bucg g i \\ S g S| £Q
utswing shown (Inswing similar utswing shown (Inswing similar .
° ("4 "\ VERTICAL CROSS SECTION g |y
7 /Shownw/2XBuck
Outswing shown {Inswing similar) >
D—_ g
: Z
| 5
1]
SEE NOTE 1 &
INTERIOR
L
_ 5
o
L - =
EXTERIOR ok DATE: 3/10/22
NOTES: SEE NOTE 2 20 | = NI
1. Sidelite assembly screws located 4" from each (TYP.) 0 /\// ) EXTERIOR INTERIOR DWG. BY: RW
end plus 4 more equally spaced along jamb (6 total). 1-1/4" MIN. \ , ok B LFS
2. Moulding secured w/ 16 GA. X 1" brad nais | /"3 "\ HORIZONTAL CROSS SECTION EMB. (VP /5 "\ VERTICAL CROSS SECTION DRAVING No:
located 1" from ends & 6" 0.C. max. Shown w/ 2X Buck 7 / Shown w/ 2X Buck FL—-41467.3
3. Anchor @ head is not required for single door (X} only. Outswing shown {Inswing similar) Outswing shown (Inswing similar) T o 13

ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.3.dwg

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467 3.dwg

INTERIOR

My
. NG IR A Ny
: i (4%
L @ éD EXTERIOR
\/\
1-1/4" MIN.
EMB. (TYP.) @

/"1 "\ HORIZONTAL CROSS SECTION

8 / Shownw/ 1XBuck
Outswing shown {Inswing similar)

NOTES:
1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jomb (6 total).
2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & 6" 0.c. max.
3. Anchor @ head is not required for single door (X} only.

)

1/

W
™ ,,
SEE NOTE 3 Sk - 1Y%
=58 g ASERE
- m: S & bom
v -2 =2 Q'.-'Q:Q ca®
W SR
. EACH . ~ L&
R P8 558
"y, teeeay \\ 5 > M Z
‘1 \ \) Z O w© Q)
I I ) SR.%
;= . B o % 2_9' K
Z o ® = 0 “
SE cEe B0,
¥ . o O = p ot
=2 Q"2 @ozl
— o H\ Sls v
e 2 §
ofE 8%
/ 2 5¢ &
>
33
EXTERIOR INTERIOR o S
\\ 25 | Ex
38| =
/ 4\ VERTICAL CROSS SECTION o |5 82
8 /Shownw/1XBuck w2 2] 2
1-1/4" MIN Outswing shown (Inswing similar) Wo & 50
. i o S6
EMB. (TYP.) : 58 |2 %x&
/"2 "\ HORIZONTAL CROSS SECTION 2 o T
8 /Shownw/1XBuck S gl ©
Qutswing shown (Inswing similar) o o
e %
SEENOTE 1 "
Z
INTERIOR %
A
[ad
; .
a
o z
P SN n
o a . . Led <ZI
EXTERIOR e EXTERIOR X/ INTERIOR < |5
. ]
@ SEENOTE 2 /v\/’ W o g
TYP. ' Zl o
() /5" VERTICAL CROSS SECTION e e ¢
1-1/4" MIN 8 / Shownw/ 1XBuck - 8
-1/4" MIN. Outswing shown {inswing similar) SCALE:  N.T.S. 2
EMB. (TYP.) owe. B:  RW | @
m HORIZONTAL CROSS SECTION CHk. BY:  LFS i
8 /Shownw/I1XBuck DRAWING NO.: o
Outswing shown (Inswing similar) FL—-41467.3 g
SHEET 8 oF 13 g




1-1/4" MIN.
EMB. (TYP.)

/"1 "\ HORITONTAL CROSS SECTION

9 / Shown Direct fo Masonry

QOutswing shown {Inswing similar)

NOTES:
1. Sidelite assembly screws located 4" from each
end plus 4 more equally spaced along jomb (6 fotal).
2. Moulding secured w/ 16 GA. X 1" brad nails
located 1" from ends & 6" 0.c. max.
3. Anchor @ head is not required for single door (X) only.

INTERIOR

EXTERIOR

o)

™

S
b .
©

SEENOTE 3

1-1/4" MIN
EMB. (TYP.)

o 1

EXTERIOR INTERIOR
A\Y
1-1/4" MIN. / 4\ VERTICAL CROSS SECTION
EMB. (TYP.) 9 / Shown Direct to Masonry

/" 2"\ HORIZONTAL CROSS SECTION

SEE NOTE 1
INTERIOR
z
EXTERIOR —
SEE NOTE 2 .
1-1/4" MIN.
EMB. (TYP.)

Shown Direct to Masonry
Qutswing shown {Inswing similar)

7“3\ HORIZONTAL CROSS SECTION

9 / Shown Direct o Masonry
Outswing shown {Inswing similar)

Qutswing shown (Inswing similar)

June 7, 2022

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR

A\

INTERIOR

/"5 "\ VERTICAL CROSS SECTION

Shown Direct o Masonry

QOutswing shown (Inswing similar)

A,
. /)
-./ % 0
. /’ s>}
% - [Ted
€ azg "
- boamn
OSSP s 5
Sz 828
SRS 2
g S I Dwo
N D7z
DWW 2,2
W 5§82
& onN - 0
a 0 O
v O O Xz 0
®E ZQ 5
§ Eo FO0o
2 £o 8 .cuw
e 8y 5024
L T¢ moadi
2 b
c [¢]
o
E 6% §
3 UV .,
g cu
o o
0o
D
S=
xS
©G
nk =3
z0 S
39 ye)
"o e
vop bad
33 1% >'§
QS 9 =
(ORI i a
am ] =
=T £ S
U)C\Q < ZU)
'.'__‘ [ OZ
o X QO
=t O NE=
8 e KO
& % T
n. 0.
>.
o
0
z
Q
2
ol
o
B
<
a
o
Z
oATE: 3/10/22
scae:  N,T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—-41467.3

SHEET _9 oF 13

ZA\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.3.dwg

© 2022 R.W. BUILDING CONSULTANTS ING.



TON] SINYLINSNGD aNigiing 'm's 2202 @

¢186 'ON Ansibey 3dgd 3
L6L6'6S9'CLE "ON Suoyd SNOILOFS g =NOISASY 31vQ [ON ~
sesss 15 “omon ‘oce xea 03 /I SSOH0 WOLLHIA Slulzle] 2|9
.oh.. _..m_.zﬁ._:mzoo oNIging g KIaN3SSY 0 Luvd SIEI%E=]. Qs
O3 WNO,g//,, v 4004 SSY19438l4 S 1z lgle T S
////@ N .&n.w.—mm@.v“...g 7, WPIUUDS ‘4 UopUAT SNOS % S3A4LS NEINMEEAE
I/& -° .... PN Ag paspdeld sjuewinoog :1oNA0Yd M M m M“mv w %

TT0T ‘L dunf

PRRRAE XN

60vEy ON

o oot i, &
55 >

\\\~s~

INTERIOR

\\

w A\

®

/ 4"\ VERTICAL CROSS SECTION

\10_/ Outswing Threshold

EXTERIOR

('dAL) "aw3
NIW /171

INTERIOR

/ 2"\ VERTICAL CROSS SECTION

W Outswing Threshold

EXTERIOR

{'dAL) "awW3
"NIW #/ 11

EXTERIOR

A

/"3 VERTICAL CROSS SECTION

w Inswing Threshold

INTERIOR

P )SEENOTE1

(*dAL) "gw3
"NIW F/1-1

EXTERIOR

/"1 "\ VERTICAL CROSS SECTION

W Inswing Threshold

A

INTERIOR

©

('dAL) "aw3
NIW b/ 11

1. Anchor @ sill is not required for single door {X) only.

Note:

BMpP e 297 LE-14\0202) L9vLp-14\sBuImeIq - D\SIYIS ADNIDIY L9¥Li-1d\s|eroiddy 1onpold epLol] - Y\IUBUBWIR - SUOS pue SOARIS\SIUBIID\Z



TON] SLNVATINSNGOD 9GNIgTHNE "M'd 2202 @)

LA LLLE,

L SO
S6SEE T4 ‘'OSWIPA ‘O£Z Xo8 ‘O'd \S~ INIIOHONY Xond A8 A0 TN g|zl0] < 2
0_7____ .._mkzﬁ._:mzoo oNIaINg gw XTEGN3SSY 90 Lavd NI
W, N R R
,ﬂr» 4<zo\@$¢ B0VCY ‘ON ‘3'd 3004 SSY19¥34l4 S £lsle T 1_
3) ...&.O.—w.@.u“...@ \\\ IPIUIYDS o UOpPUA] SNOS % S3IADIS @ M 61y S gl W
! "o VN7 :hg peindesd swuswnoog :LONA0¥d HEIEHE &
70T L eung
¥* =
“\\ 0;00 ..o .”“.
\\\\ &Q.@m 0 /////
U, "WESS W////
T
| {dAL) "X¥W
e (dAL) 00,91
« ‘ :v
* o ! 1 f t 1
v -
g e
= z
Ex 5 E @)
v | -
£ 1 INL 0 7
T ........
i | | | _ e
_-.-... -.& - ¢... ..A.c - . (.-.. ...< - R 4-
(dAL) "XvW
- ﬁt!laé "0'0.91
\lo’ ——.v
0.
e . O
£ | t f i f f <
Q &~ %»I Qz
= L
= « - m
CS » = vﬂw m
r 2 7 - A
B s 2 Q e
.d. o8 m J.i. U
Y 2 .
o = o <
.1.!..0» J I I I ] I .... o™~
» B W Kxr S IRER R X
. ..... K ...c. ¢: E 3 v..v .-. Y ...-n
“
(dAL) XYW
* 0091
t 1 t
= M'||.I % 7
Y E s \
Sa 2 x|
ol 'y
fa) E e
m A —
et o
] [ I ! - ..l/m
T \ Tor T~ f o >
cm. s w M s ....;.. .rq. e & DN“
L < q.‘... ‘i i ...v.nv .o ! .
N LR A 2N m” : ’ M\Uu
SE 3
N

BMP'E'297LY-14\0202) L9PLy-T4\sBUIMeIQ - D\SIRIAS ADNIDTY L9¥LY-Td\s|erciddy 1onpoid epLOl - Y\UBURLLISG - SUOS PUE SARIS\SIUSIDNZ



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.3.dwg

FRAME CORNERS ATTACHED w/ {3) 7/16"
CROWN X 1-1/2" LONG 16 GA. STAPLES & {2}

#7 X 2 DRYWALL SCREWS @ HEAD & SILL (TYP) G MuLLioN BACK OF LOCK JAMB w (4) 1" CROWN X S 0
) £ (TYP) =] |~ s 5/8' LONG 16 GA. STAPLES S $O g}
g 6" (TYP.) —=— = S='E g™
- 4" (TYP)) = = ¥ J
ey [Ty ] | oig 225,
y = = = e 2 5om
T[] P 2o z 828
_ — | SEEHINGE . 7 D 538
! f s 5 o 5 9 el S 3352
. B @ {TYP.} = Cw /7 4 \\\\ ZSo
2X BUCK = 2x BUCK 3 zs ! 33 T 1 Sn. g
a— — o o 3 < (78} . & o - o O
DIRECT TO DIRECTTO 28 n 5° o g §5% =Z2g58
- MASONRY —I| — — MASONRY —l— = N g l *J 7% ac&k
JAMBS HEAD & JAMBS s IR Sle v §
(TYP (TYP.) T% ' i S|t §°
- . . |t : . HIES
- S = 5 o
— . O O ~ 3
.o J h = )
- — Q£ —_ | 8& 5E =
<% *3 b IH o% | g
FRAME -3 DOOR SILL SEE LATCH & 23 | £8
T G OQ
(TYp) (TYP.) 52 DEADBOLT STRIE SEE MULTIPOINT LOCK L
B - — Pl K™ DETAIL . STRIKE PLATE DETAIL 8% |3 SR
Lt - (TYP.) e (TYP.) &é o <g
X X0, OX (D)outswine HINGE JAMB/MULLION  STRIKE JAMB/MULLION  STRIKE JAMB/MULLION o 08 |3 ES
G MULLION NSWING LATCH & DEADBOLT MULTIPOINT LOCK = of ¥
INTEGRAL MULLION ATTACHED TO 4 (TYP) —] | LT \ 2 %
HEAD & SILLw/ (3) #10 X 3" FH £ [YP) | | oz SIDELITE SILL @
COMPOSITE DECK SCREWS (TYP.) ) l % (TYP.) DRECTTO \Y = @
Rl RN DIRECTTO MASONRY 2X BUCK ]
T MASONRY
™~ N MASON 1X BUCK ﬁ@ IXBUCK e Ny
' 2X BUCK @ \@ DIRECT TO 0
— (L)2xBuck - o T ok — 2XBUCK \ MASONRY " ;
:0 i o: e A\ 5
o X BUCK il @ ROCKWELL MULTIPOINT LOCK HARDWARE ROCKWELL HARDWARE 2
- DIRECTTO —f —— ol
MASONRY ! \ @ o
HEAD & JAMBS DIRECT TO ‘E}V
(TYP.) _ ] HINGE DETAIL MASONRY 20 TOP PLATE
I~ — INSWING xsuck () \ .
ourswiNG (D ) &
GE DIRECTTO ~ 2XBUCK @ —TO 13 @< L
INSWING 0 - — :S > \ MASONRY e 2 <
SIDELITE SILL SAOR SIL -3 1X BUCK = d
(TYP') S\I — (TYP.) - — o Ll oYt 2X BUCK 2X BUCK 25 ] i z
[HIN! LIdild = | —a il 2X BUCK i@ DATE: 3/10/22
v} - .
e Ol \@ 1X BUCK \ X BUCK )\® SAE N.T.S.
DIRECTTO oW B:  RW
OXO . e DIRECTTO \ :
\ MASONRY CHK. BY: LFS
KWIKSET HARDWARE SCHLAGE HARDWARE DRAVING N0
HINGE DETAIL FL—41467.3
FRAME ANCHORING NGE DET) HARDWARE DETAILS

% 3.5"X 4" 20 GA. STEEL PLATE ATTACHED TO

SHEET 12 oF 13

© 2022 R.W. BUILDING CONSULTANTS INC.



Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41467 REGENCY SERIES\C - Drawings\FL-41467 (2020)\FL-41467.3.dwg

BILL OF MATERIALS
fTEM # | DESCRIPTION MATERIAL

A 1X BUCK (G >=0.42) WOOD

B 2X BUCK {G >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL

P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL

| COMPOSITE JAMB COMP

3 COMPOSITE MULLION COMP/LVL
7 WEATHERSTRIP FOAM

8 SWEEP VINYL

9 4" X 4" HINGE STEEL

11 #9 X 3/4" PFH WOOD SCREW STEEL

12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL

14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
17 INSWING SIDELITE ADAPTER PVC

18 #8 X 3" SD TRIM SCREW STEEL
20 #9 X 1/2" PFH WOOD SCREW STEEL

21 #12 X 2-1/2" PFH WOOD SCREW STEEL
23 #8 X 3/4" PFH WOOD SCREW STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 #7 X 1-5/8" DRYWALL SCREW STEEL
34 MULTIPOINT LOCK STRIKE PLATE STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -

1.25"

|

0.75"

4.5¢6"

1.44"

1

| 213"

COMPOSITE JAMB

WORLDWIDE "4EVER"

- 5.62"

14 INSWING THRESHOLD

Columbia

17 INSWING SIDELITE SPACER
Columbia

wood screws to prevent the splitfing of wood.

W,
| ot — ]_5" e .%,/” Ié’)
05" ——| |=— P A
0. A=0 ™
3 LVL INSERT g: ‘%:.Z. o N
| _wesxar i8S, 2
| _A065'x2.7) &:0ZP 55
COS 2200
P8 5585
&\\ > " Z
i W 255
o) } \\ (ol 5} © -
- &, Svad
v B vuxze
) £ Ey Zm,eT
™ g c o n
k. £69 2564
Q%2 2ozl
QKle v,
% e
2.5" ofE S
g3 cu @<
@ COMPOSITE MULLION e _Jo
O
=9 P
Q <k
g2 EF
28ls 538
23l =8
" éﬁg = L3
| 2.44 ——*1 . g L%-‘ oG
. 3 L RE[Y 2%
4 (=} 5 i M
: =N =
[e o} [
— "f o Q.
i d
" ? E
4.6
15 QUISWING THRESHOLD
Columbia
]
=z
Q
v
|
o
CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the comers may be adjusted fo maintain the min.
edge distance to mortar joints.
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors Lt
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. LE
. Concrete anchor table: o
MBEDM
o IS 1]/ S b DATE: 3/10/22
- SCALE:
TAPCON® | /& 1-1/4" —— N'T';\)i'/
DeWALT " . . “ . BY:
uLTRACONS| /4 1-1/4 1 4 TS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—41467.3

SHEET 13 oF 13

© 2022 R.W. BUILDING DONSULTANTS ING,



